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(@)5x(4+3)=35

(b)(24-6)-(3+8)=7
@11 +21)+(7+9)=2
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(a) 4 miles

(b) 20 miles

(c) 14 miles

No

Amy'’s average speed = 30 + 4 = 7.5 miles per hr

Lucinda runs 8 miles per hour. Hence Amy is incorrect to say that her
average speed is faster than Lucinda’s.

360 calories
Northampton 08:45 09:18 15.30
Wellingborough | 09:15 09°4s | 16:00
Kettering 09:45 10°1S 1630
Corby 10:05 10°:3% 1680
Oundle 10:38 THl} 1723
Peterborough 11:00 1:33 17:45

Maggie's travel time from Northampton to Oundle is 1 hr 53 mins
Betty's travel time from Wellingborough to Peterborough is 1 hr 45
mins

Therefore, Maggie's journey is longer by 8 minutes.

(a) 26, 32, 28
(b)1,0.5,0.25
(©11,8,3

(d) 62, 81, 104
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19.

£500

Game A: 940.3
Game B: 0.349
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(a) £100,000
(b) £1,100,000
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(c) £110,000
(d) £1,210,000
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